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1. What does the coefficient of friction measure?
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2. Why are there two coefficients of friction? Compare them.
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6. A 4.0 kg block is being dragged across the floor by a student who finds that he must exert a force
of 14.0 newtons to keep the block moving at a constant velocity.

a) Draw and label a free-body diagram for this situation
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b) Determine each force acting on the block
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c) Calculate the coefficient of friction (¡r) for the block and the floor in this case.
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d) If that brick is replaced with one that has a mass of 8.0 kg, which of the following will
change? If so, how much?

ii) Normal force

iii) Force of friction
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on a frozen pond. A child pulls the sled with a horizontal forc

newtons and causes it to accelerate at a rate 1.50 m/s2.

a) Determine the force of friction ñ.
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îb) Determine the coefficient of friction
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8. A driver slams on the brakes and her 2.0 x 103 kg car skids to a stop on a dry asphalt highway
ñ: 

-a) the force of friction stopping the car? ,/L4 = 0"g

F¡ ,U- r_

b)Whatistheaccelerationofthecarwhileitisstopping?@_a
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